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An automobile manufacturer that increased the total number of cars produced at
the same cost, but with many defects, would be

(A) efficient and effective

(B) increasing efficiency

(C) increasing effectiveness

(D) concerned with inputs

Based on his scientific management principles, Taylor suggested which of the

following pay principles?

(A) monthly salary

(B) monthly salary with bonus

(C) seniority pay

(D) incentive pay

An organization’s culture is :

(A) represented in organizational meetings by the top manager of the
organization

(B) represented by a common perception held by interest groups that watch the
organization

(C) represented by a common perception held by the organization’s members
(D) changed when the organization is purchased by new owners
A borderless organization

(A) utilizes ethnocentrism

(B) focuses its efforts on a polycentric attitude

(C) globalizes their structure to reduce artificial global barriers
(D) is another version of a multinational organization



A retail clothing store manager who estimates how much to order for the current
spring season based on last spring’s outcomes is operating under what kind of
decision-making condition?

(A) seasonal

(B) risk

(C) uncertainty

(D) certainty

Planning involves defining the organization’s goals, establishing an overall
strategy for achieving those goals, and developing a comprehensive set of

plans .
(A) as to which shift will perform what work functions

(B) to determine which manager will be over which department

(C) to integrate and coordinate organizational work

(D) to establish the quality and quantity of work to be accomplished

The merging of the analyses of internal and external factors influencing the
organization’s strategy is known as
(A) complete studies

(B) organizational behavior and theory

(C) definitional analysis

(D) SWOT analysis

Benchmarking is the search for the best practices among competitors or
noncompetitors that lead to their
(A) achieving such a large market share

(B) ability to so accurately predict the environment

(C) superior performance

(D) ability to identify new market niches

The degree to which jobs are standardized and guided by rules and procedures is
called

(A) work specialization
(B) centralization

(C) decentralization
(D) formalization



10. An assessment that defines the jobs and behaviors necessary to perform the job is
known as a

(A) job description
(B) job specification
(C) goal-oriented job definition
(D) job analysis
11.Which mode of innovativeness has the lowest risk and profitability? (A) adaptive
product (B) first-to-market (C) imitation (D) All of above.
12.Prahalad and Hamel argued that competitiveness should be rooted in accordance
with? (A) Core competency (B) Final product (C) Core product (D) Business unit.
13.In the Value chain model, which of the following is classified into the supportive
activities? (A) Outbound logistics (B) Marketing and sale (C) Procumbent
(D) Operations.
14.Which of the following description is more related to incremental innovation?
(A) Rare occurrence (B) Product improved or upgraded (C) Start outside of a firm
(D) Generate new industries.
15.Which of the following is regarded as the most inner circle of the technology in a
business/product? (A) Distinctive technology (B) External technology (C) Basic
technology (D) Radical technology.
16.In making the market entry decision, which mode has the middle level of
ownership and control ability for a company? (A) Joint venture (B) Licensing
(C) Franchising (D) Management contract.
17.In the analysis of industry competitiveness, which item is more related to potential
competitor(s)?(A) Purchasing power (B) Entry barrier (C) Manufacturing costs
(D) Substitute threat.
18.Which description of hierarchy of needs is wrong? (A) Maslow has empirically
found that human needs can be classified into levels (B) Five levels of human needs
are verified and classified (C) The fundamental need is physiological need, the
ultimate need is self-actualization need (D) All of the above.
19.Roger has proposed the Diffusion Theory which include: 1.Interest ~ 2. Awareness -
3.Trial~4.Adoption~5.Evaluation. Please arrange them in a correct order? (A) 32154
(B)12534 (C) 21534 (D) 23154.
20.Entrepreneurship can be performed by? (A) Individual (B) Team (C) Organization
(D) All of above.
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1 - When bank loan officers screen loan applicants to eliminate potentially
bad risks, they are attempting to mitigate the problem of (A) illiquidity
(B) moral hazard (C) interest rate risk (D) adverse selection

2 ~ The largest category of mutual funds is (A) funds consisting of capital
market instruments. (B) closed-end mutual funds. (C) load funds (D)
money market mutual funds.

3+ Afalling NTD makes Taiwan goods (A) more expensive abroad and
increases the volume of Taiwan exports. (B) less expensive abroad and
increases the volume of Taiwan exports. (C) less expensive abroad and
decreases the volume of Taiwan exports. (D) more expensive abroad and
decreases the volume of Taiwan exports.

4 ~ Which of the following statements is correct? (A) New classicals believe
that the aggregate supply curve is vertical in the short run. (B) New
Keynesians believe that the aggregate supply curve is vertical in the short
run. (C) New Keynesians believe that the aggregate supply curve slopes
upward in the long run. (D) New classicals believe that the aggregate
supply curve slopes upward in the short run.

5~ Consider the following timeline detailing a stream of cash flows:

Date

0 1 2 3 4

I I I I I

| I | I |

? $5000 $6000 $7000 $8000
Cash
flow

If the current market rate of interest is 8%, then the present value of this stream
of cash flows is closest to: (A) $22,871 (B) $21,211 (C) $24,074 (D) $26,000
6 ~ Which of the following are subject to double taxation? (A) Corporation (B)
Partnership (C) Sole proprietorship (D) Aand B
<F G W F FRE>>
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10 -

11

12 -

13~

14 ~

15

16 -

17~

18 -

~ Which of the following statements is false? (A) Expected return should

rise proportionately with volatility (B) Investors would not choose to hold
a portfolio that is more volatile unless they expected to earn a higher return.
(C) Smaller stocks have lower volatility than larger stocks. (D) The
largest stocks are typically more volatile than a portfolio of large stocks.

~ Which of the following is not an investment likely to be found in any

proxy for the market portfolio? (A) Human capital (B) Stocks (C) Bonds
(D) Precious metals

~ The Gains from Trade associated with the principle of Comparative

Advantage depends on (A) the trade partners must differ in technology or
tastes. (B) there can be no more goods traded than the number of trade
partners. (C) there may be no more trade partners than goods traded. (D)
All of the above.

If the price of food (a land intensive product) rises, then the income of
capital owners will fall because (A) capital owners consume only food. (B)
the real wage in terms of manufactures rises. (C) they must pay higher
wages to maintain subsistence levels. (D) food is an element of organic
capital for capitalists.

+ Atax on the wages that a firm pays its workers is called a/an (A) income

tax. (B) excise tax. (C) consumption tax. (D) payroll tax.

An externality (A) is characterized as a form of market failure. (B) causes
markets to allocate resources efficiently. (C) strengthens the role of the
invisible hand in the marketplace. (D) requires the producer to compensate
society.

Efficiency occurs when (A) total surplus is maximized. (B) producer
surplus is maximized. (C) all resources are being used. (D) consumers
surplus equals producer surplus.

How does total revenue change as one moves down a linear demand
curve ? (A) It increases. (B) It first increases, then decreases. (C) It
decreases. (D) It is unaffected by a movement along the demand curve.

Firms that shut down in the short run still have to pay their (A) variable
costs. (B) fixed costs. (C) total cost. (D) All of the above are correct.

If real GDP doubles and the GDP deflator doubles, then nominal GDP
will (A) stay the same. (B) double. (C) triple. (D) quadruple.

In the long run, a higher saving rate (A) cannot increase the capital stock.
(B) means that people must consume less in the future. (C) increases
productivity. (D) None of the above are correct.

According to classical economic theory, changes in the money supply
affect (A) nominal variables, but not real variables. (B) nominal variables
and real variables. (C) real variables, but not nominal variables. (D)
neither nominal nor real variables.



19 - Suppose the economy is initially in long-run equilibrium and aggregate
demand rises. In the long run prices (A) are higher and output is the same.
(B) and output are higher. (C) and output are lower. (D) are the same and
output is lower.

20 ~ Fiscal policy affects the economy (A) only in the short run. (B) in both
the short and long run. (C) only in the long run. (D) in neither the short nor
long run.
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2 ~ Originally the consumer faces the budget line RY, +P,Y, =1. Consider
the following situations and write down the equation for each new budget
line in terms of the original prices and income.

(A) The price of good 1 doubles, the price of good 2 becomes 8 times
larger, and income becomes 4 times larger.

(B) The government decides to impose a quantity tax on good 1of t, and a
quantity subsidy on good 2 of s.
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I. Reading: Select the best answer for each item (30% )

(i)

1.

Insomnia is a widespread problem (1) some adults. Half of the
people complaining _(2) _insomnia consider their problems serious (3)
to seek professional help. Insomnia is twice as frequent in women as in
men and its incidence increases with age. It is not a trivial complaint.
Chronic sleep disturbances may have an _(4)_ on daytime functioning. It
can _(5)_considerable distress and make the quality of life worse. It can
also lead to mood problems, fatigue, and performance disability.

(A) affect
(B) affects
(C) affecting
(D) affected

(A) of
(B) in
(C) at
(D) with

(A) much
(B) enough
(C) sufficient
(D) hard
(A) infect
(B) imply
(C) encase
(D) impact
(A) take
(B) let

(C) help
(D) cause

<F G wFRE>>



(if) Everybody knows that high marks _(6) _ at different schools or under
different instructors can indicate very different _(7)_ of achievement. One
professor may be a hard grader, while another is overly generous or (8) _
the whole business as a bit of a joke. Some schools have high standards,
while _(9) are just the places of mediocrity. And at all universities there
IS a constant tendency towards grade inflation that is fought at some
institutions and allowed to go _(10) for long periods at others.

6. (A)earn
(B) earns
(C) earning
(D) earned

7. (A) grading
(B) levels
(C) class
(D) layer

8. (A) takes
(B) bespeaks
(C) mistakes
(D) speaks

9. (A) others
(B) the other
(C) another
(D) the others

10. (A) check
(B) checking
(C) uncheck
(D) unchecked

(iii)  Aging is not a uniform process. Different parts of the body wear

out at different rates. There are great differences among people in their
rate of aging. _(11)_ the cells of the body differ in the way they age. The
_(12)_ of cells of the body differ in the way they (13)_. Many cells
_(14)_ reproducing themselves many times during the course of a lifetime.
Nerve cells and muscles fibers can never be replaced (15) they wear
out.



11.

12.

13.

14.

15.

(A) Though
(B) Even
(C) More
(D) And

(A) major

(B) majority
(C) super

(D) superiority

(A) age
(B) aged
(C) old
(D) olden

(A) are capable of
(B) capable of

(C) have the ability
(D) can

(A) how

(B) where

(C) once

(D) wherever

Il. Translation

(i) Translate the following Chinese into English (20% )

1.

R CTE IR LY PAAREE S EIE U AR L
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(ii) Translate the following English into Chinese (20% )

1.

The supplementation of words and conversation by the parents
continues until the child becomes more adept at employing the
language, at which point the parents begin to have higher expectations
of the child.

. The islands of Britain were a destination for the Roman legions due to

several factors, but pressure from the church to convert the Celtic
peoples played a significant role in the decision to occupy the region.
Although they were primarily used in religious ceremonies to predict
the future and solve worldly puzzles, the oracle bones also provide a
record of the peoples of the Shang dynasty and events occurring
during the Shang period.

As many people living in medieval times could neither read nor write,
paintings and sculptures served as vehicles through which religious

leaders could promote spirituality and devotion to God.

I11. Composition (30% )

Instruction: What is a very important skill a graduate student should learn

in his/her graduate studies in order to be successful in the future?
Choose one skill and use specific reasons and examples to support

your choice.
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